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[Grer westiet, “AfRTa € Qriisl TRFA (G, 0%%) = PR, &H-20]
AT (I Bfew (o1 WG IR (7t e

F. (AGF AT <, % A

oY, TolT o[y q, Ole] A Taq: o
[eret MP3 JIETICA= (52 W, R03%) = 7B1-8¢b, &%-84]

N0 TRTEFPTFHT AT (T2

<. Windows XP 4. Windows 98

5. Windows 7 ¥, MS DOS Ced: 4

[Easy SIT51 ¢ ©2F (& (TE1IE, 03%) = P-4
'"Law of the Sea Convention' S@f T#FA (AT T© Wy 4
'Exclusive Economic Zone' R 572
F. IR AT TEA <. 88 WG W3
. 00 AL T3 €. Wq0 AL B 08g: 9
[ere weeitet, “ifara @ Qs GIFEAT (G, 203%) = FBi-by, dN-8]
Bt AT ¢l fSBIfRw Q?

s. E 1. K

7. B Complox 9 A e o
[eret MIP3 el feale (ST, 2033) = F¥l-0bd, &%-d0]

A 59Y TE FIE T4 =2

3. et <, faGal TR

o I q, QW Ly T&q:

& MP3 SISHIoF (G, 2033) = 7180, &%-3)]

JREMCIT G AR o @t ?

. N <, (Rolar

o, GToNIG 9, fageram Ted:

[eret MP3 QAT (32 G, 2033) = 7Di-¢ob, &%-38]
SRS AT AT ANS (& T2
3. W <, 9o
4.9 . O¢ Taq: 4

[eret MP3 UG (52 G, 203%) = Bi-3 95, &%-00]
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T. 9-(IY 4. T-9¥ (AT dooo Fb fCH

oF, T-® . B-9¥ (AF Y000 Fb TFre Teq: o
[eret MP3 tnfwe Rl (G112, 20%%) = 49i-bry, &%-9]

AT 2o ZHA T (T2

3. AT A <. A= A

oF. MG 2 g, IISTSTY AT e F

[Srer <ieeT! SiET @ ARST (AR, 03%) D BI-8%, &¥-5]
3,48 o O NP WO TPAS 2 : 0 : ¢ | F 9F W [FoF T A
d2000 BiFt (A T 4 @F (O TE?
F. Y000 BIFI 4. rooo BIFl

%. Y000 DIFI g, YY000 BIF! Teq: o
[t Math Review (ST1E, 2033) = Bl- 568, &%~ bo ()]
030 AEH (HIA W 4@ IS foet 0.9¢ ffil. | @ o @IE JfBeite

Fo? www.prebd.com

F. ) ffw . R

. d.9¢ iy g, 33.¢ [rf Teq: o
[eret Math Review (FFT18, 2033) = 9Bl- 990, &%~ 0(g)]

(I 21T fReTea I TR dY @SF FAET @IFA oo FA?

F. 58 q. 5¢

. 59 9. 0 Ted: T
[erst Math Review (SFT12, 2033) = 791- 8qy, &%- 0¢ (&)

W20 TRYIT QIFT 9o IR AIALE, HY JT A.3.8, F©?

3. 38 . L8

. O q. MY Ted: o

[srer Math Review (G128, 0%%) = "’IéT- Y, &H- oO(ATH?)]
IS TIF TS S¢o T IR &F 9% b | @ TRF (Fa%e F© FHol?
3. © DIt Q. 3¢ o

Y. St Al T, 3 Il Teq: o

[sret Math Review (G113, 2033) = FBi- bR, 2% o (@]
93 Aifex vt » AT vo T @it | » eitere vl Tvo ol gwea?
. Yo fofy <, o fofy

1. Y90 foly q. wyo fofy Ted: ¥
[eret Math Review (SeT1%, 2033) D 7Bl- L@, &%~ ()]

qb IR SPATS € : b | 7T 0T T (A FFCET ALATS Q ¢ 9 | IR

7o $97?
.50 8 MY S IEVRCIRY]
7. 9 8 M q, 3% 8 Y Ted: T

[erer Math Review (718, 203%) = "jﬁT- dob, dH- doq]
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Yo,

X +Y' + 272 =37

SX+Y+Z 4. XYZ
9.3 g 0 Taq: o
[erst Math Review (G112, 203%) = 9¥l- €38, &%~ S(FNgw)]
1 1
X-—=1RAX - — 9T T F?
X X
. 2 .3
. 6 q, 4 Teq: ¥
[eret Math Review (12, 2033) = 7Bl- 888, &%~ 3]
0.9 X 0,00 X 0.00) =?
. 0.588 q. 0.00588

N. 0.0000)88 9. 0.000000588 eq: ¥

[eret Math Review (118, 203%) = 7Bl- ¢, &AF- 4]
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Choose the correct sentence-
<¥. The cow 1s an useful animal.
4. A cow 1s an useful animal.
5. Cow 1s a useful animal.
9. The cow is a useful animal. Ted: ¥
[George's English Language (July, 2022) = Page -73, Q.-18]
'The English' means- www.prebd.com
<. English language
. English literature
. English speaking countries
¥. The people of English Tad: ¥
[George's English Language (July, 2022) = Page -81, Q.-5]
The Adjective form of ‘cow’ is-
<. Oxen q. Bovine
. Equine 9. Cowish Teq: ¢
|[George's English Language (July, 2022) = Page -788, Q.-64]
Do it at once 99 Passive voice X3-
<. Let it be done at once <. Let it at once done
of. Let it be at once done 9. Let it done at once Taq:
[George's English Language (July, 2022) = Page -549, Q.-2]
Choose the indirect speech of . They said to him “Sir, Please
visit our office today”
<. They asked him to visit their today.
4. They requested him respectfully to visit their office that day
7. The requested him respectfully to visit their office today.
¥. They told him humbly to visit their office that day. Teq: ¥
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Iron is the most useful metal- The positive form of the sentence is-

<¥. Very few metals are as useful as 1ron.

4. Iron 1s as useful as many other metals.

. No other metal 1s as useful as Iron.

9. Iron is useful than many other metals. TCed: o

[George's English Language (July, 2022) = Page -566]

Which one is used as prefix?

<. ness q. fix

A. co q.ty Teq: o
|George's English Language (July, 2022) = Page -814, Q.-1]

Choose the correct words to complete the sentence. Last night I

came to my house and found that the door

<. was broken ¥. has been broken
. 1S broken €. had been broken Ted: ¥

Fill the blank with appropriate word given below. If1  a

king. www.prebd.com
. are q. am
. was ¥, were T8:
|George's English Language (July, 2022) = Page -339, Q.-10]
Which 1s negative of the sentence. Man 1s mortal.
<¥. Man 1s not mortal. ¥. Man 1s immortal.
. Man are not immortal. ¥. Man is not immortal. & ¥
|George's English Language (July, 2022) = Page -491, Q.-10l
Choose the complex sentence.
<. He 1s unfortunately failed.
4. It 1s unfortunate that he failed.
1. It 1s unfortunate to fail.
9. He unfortunately failed. Ted: ¢
Choose correct words to complete the sentence. This balm has
lessened your pain
<. Doesn’t 1t? q. Hasn’t 1t?
. Will it? 9. Won’t it? Taq: ¢
[George's English Language (July, 2022) = Page -597, Q.-1]
“The gift of the gab' means
<. Gift of nature . Ability
. A reward 9. Ability to speak easily Ted: ¥
|George's English Language (July, 2022) = Page -437, Q.-350]
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<. He worked hard, does he?
4. He works hard. does he?
9. He works hard, doesn’t he

¥. He worked hard, didn’t he? Ted: 9
Choose synonym of ‘Defence’.

F. Attack 4. Resistance

of. Assault ¥. Raid Teq: o

[George's English Language (July, 2022) = Page -678, Q.-158]
“otelfd’ @I Tt sfa@? www.prebd.com
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[eret JIETT Ot @ AfeST (SEIME, 202%) = Pi-80b, &-9¢]
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3. AR S <, DS FerPeT SIAY

. *TNS IR ¥, YA ITREG™ Oed: ¥
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[Srer AT Ot @ AfRSy (TR, 203) = JP-28¢, 24-2)]
@ ¢I1( Zero-Sum game) WSEISF 7o (317 ©08q 70X TfED?
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o, IV . Sriqeiqm Tex: T
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